sholat,

?_

O
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272V ABC of| A sinA 2] #F




2.

tanA =4 4 o, sin? A — cos? A 9] k& FstolEk (H, 0° < A < 90°



3.

sin 0° X cos 60° 4 cos 0° X tan 45° — sin 45° X tan 60° =7

@1—? ®1+§ @1—?
@1+ﬁ @2—\/§

2 2



O] #E H 1 ginx = 0.6691 & o], x 9] g7

@® 39°

2t | ARRl(sin) | 2 AFRl(cos) | EtMIE (tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0,7431 0.9004
@ 40° ® 41° @ 42° ® 45°



oh5 1EollA A AB 9] dolE Fstolet.

® 7v3cm @ 843cm ® 9v3cm
@ 10V3cm ® 11vV3cm



6. U 2™ x 9 gk FshoiEt

NV,

Be-



982 ¥ 0O o4 OM = ON,
OA = 4+2cm ,

ON = 4em & wj, CD ¢] Zdo]& 5
2},




ths 19olA OM = ON ©]iL, /A = 28° A
o o, LACB 9] 2717

@® 712° @ 73° ® 714° @ 715° ® 76°



9.  The 19elx OM = ON & 1, ¢ ©] 7% Fatelet.




@ 11

® 10



o g e golrb2 Al A A

4
A, cosx ] &t

bol ke ot P




12.

29

ohg ol A7) 3k 5 71 e gkt 1 2 ke AAL A
H7]
@ sin45° © cos45° © sin0°
® cos60° @ tan60°

60 ©60 066 ®oe 0606



13. toF2 A7 ABC oA A =34° 4
o, 0] BC & otolet. (T, sin34° =
0.5592, cos 34° = 0.8290 )




14. o5 IH9] YPAPHT ABCD of|A]
AB = 6cm , BC = 10em , /BCD =
120° & wfj, AC 9] Zo]=?

@ V67 @ 71
® 219 @ /86
® V95




15. & 193 2L AABC oA %o h & FohH?

A

VN

~--Hogo -

@10(\/5—1) @10(x/§—1) @10(\/§—x/§)
@10(2\/5—1) @10(«/5—2)



,a,sin(180° — /B)
,¢,sin(180° — /B)
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17.

tha 2383 22 AFTE ABCD 2 §ol A
g T8k

O 12v3 @ 1V3 @103 @93

® 83



18. 9 mofe] BE7] 2490 v Id 3 Zo] A71E SAsHH. ©]
E719] = 2719 dole?

@ 4rn @ 36n ® 64n @ 1007 ® 144rn



a > |00
<O

sz ©

0| n

—

W = 10032 [0
0 0 ©
-

N

%o 3
o_u 5,81;8

[}

ool @ O
o



20.

@ hsind0° — hcos50° = 100

@ hcos40° — hcos50° = 100
® htan50° — htan40° = 100

@ htan50° — hsin40° = 100
h h

- =100
sin 50°  sin40°




21.

ohe 197 ol 3

g dzte] 2717
(T, 0°</B<90°)

@® 30° @ 40°

Ho] dol7k2v2 ©]aL, Wo|7F4v2 Q1 mHE R e

® 45° @ 60° ® 75°



22. AABC oA zA =60°, BC = 14 ¢ @] AABC 9] 9] 2] vtz & 2]
Aol & Fotofzt,

A

N
© —103‘5 @ 43 ® —14;3
@ 16¥3 ® 63



23.

WA 5o] 14om 9 72 o BHlo = A3S

ji =
011

> R

wel g4o] u
2cm ©|9iet. o] HAZ o FA ko] AelE Fofofel,

b cm



24. o2 182 ¥ 0 o4 ABLOM ©]1L AB =
CD ©|t}. AM = 6cm, OM = Vbem 9
€0 9] gol?

@ 4lmrem? @ 497cm? @ 56mcm?
@ 60mcm? ® 647mcm?



25.

o5 I3 Zo] ¥z 5-9] Zdo|7} 2
ol Yof] H35H= AABC oA /A =
60°, /B = 45° ¥ ujj, AB o] Z9]

9

D VI+V3 @ i+ 6 AL 45

B
® V3+V6 @ 5+ 6 v
©® V6+ VT




